
 

青岛科技大学 2005 年硕士研究生入学考试试卷 

考试科目  无机化学（A 卷）（答案全部写在答题纸上） 
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A.   [Cr(H2O)6]
2+

      

B.   [Mn(CN)6]
4-
   

C.   [Co(H2O)6]
2+

      

D.   [Co(NH3)6]
3+
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A.     �H<0, �S<0 d 

B.     �H>0, �S<0 d 

C.     �H>0, �S>0 d 

D.     �H<0, �S>0 d 
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A .   HF,F�,HSO4� d 

B.   NaB4O7.10H2O,H2O,HPO4� d 

C.   HCO3�,CO3
2�,HS� d 

D.   OH�,H2PO4� ,NH4
+ d 
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A.     H2SeO4>H2SO4 
d 

B. H2SO4<H2S2O7 
d 

C. H4SiO4>H3PO4 
d 

D. HClO>HClO3 
d 
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A.   HClO4<HBrO4<H5IO6

d 

B.     H2SO4<H2SeO4>H6TeO6
d 

C.     HClO4<H2SO4<H3PO4
d 

D.     HNO3<H3PO4<H3AsO4
d 
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-1 �� ¡¢£¤

0.10mol.L
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A.    15min « 

B.    30min« 

C.    216min« 

D.   ¬­®¯« 
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A.     ZnCl2« 

B.   FeCl2« 

C.   CaCl2« 

D.   HgCl2« 

15°º» 5108.1 −×=bk
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1.0L pH=10.00,CNH3.H2O=0.10 mol.L
-1
�¿ÀÁÂ�ÃÄ Å

NH4Æ2SO4�§³�Ç¤
 



 

A.    2100.9 −× mol.L
-1« 

B.    3108.1 −× mol.L
-1« 

C.    3100.9 −×  mol.L
-1« 

D.  2108.1 −×  mol.L
-1« 

16°ÈÉÊË 0.01 mol.L
-1
MOH

ÁÂ�
pH=10.00

��ÌÍ� θ
bK
¤

 

A.   2100.1 −× « 

B.    6100.1 −× « 

C.    18100.1 −× « 

D.  12100.1 −× « 
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A.   Ag
+
/Ag« 

B.   AgBr/Ag« 

C.   Ag(NH3) 2

+
/Ag«  

D.   Ag(CN) 2

−
/Ag« 
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A..   Cd
2+
,Mn

2+«       

B.   Sb
3+
,Bi

3+ «        

C.   Ag
+
,Cu

2+ «          

D.   Pb
2+
,Hg

2+« 
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A .   Cr2O7
2-
, MnO4

-
, Fe

3+«      

B .   Co
2+
, Cu

2+
,Sb

3+ «      

C .   Fe
2+
, I

-
,Mn

2+ «       

D .   Cr
3+
,Sn

2+
 ,Fe

3+« 
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A.     Mn
3+« 

B.   Fe
2+« 

C.   MnO4
2-« 

D.   Cu
+« ï°ðñò Åóñ
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θ
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 :  1�Fe2O3 �s�+3CO �g�= 2Fe �s�+3CO2 �g�      θ
mrH∆ �e� 

2�3Fe2O3 �s�+CO �g�= 2Fe3O4 �s�+CO2 �g�    θ
mrH∆ �e` 

3�Fe3O4 �s�+CO �g�= 3FeO �s�+CO2 �g�       θ
mrH∆ �e] �wx

FeO �s�+ CO �g�=  Fe �s�+ CO2 �g�� θ
mrH∆ ���C5                         �=��a������� , ���� ¡¢�£¤¥¦ § �

 mol.L
-1
HSO3

-¨
SO3

2-©ª«
pH=       ¬ § � mol.L

-1
Na2SO3

«
pH=       ­ θ

1aK ®�§¯ × � °± θ
2aK ®²§³�× � °±´��¡µ¶·¸¹

H2(g)+I2(g)=2HI(g)
«º»¼½¾¿­

1 Í2(g)      I(g) + I(g)      (ÀÁÂ) ­
2 H́2

­
g +́ 2I(g) →2HI(g)      
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________________________  
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2Ag(s)+2H
+
+2I

-
=2AgI(g)+H2(g)ÑÒ¦ÓÔÕ¹Ö×ØÊ¾¿�Ù¡

O3(g)ÚÛ¢�«ÏÐÜÝÞ__________________¬   ß¾àá_________âãäå��³¡æçèéêë ­
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4-¡
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[Ru(CN)6]
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1�Mn
2+  

+ PbO2  + H
+ →  

2�SnC12  + Hg2C12 →  

3�Cu2O + HC1(�) →   

4�Cr2O7
-  

+ OH
- →  

5�Na2B4O7.10H2O  + HC1→   

6�SbCl3 + H2O →  
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1� ABCDEF
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 STU
VSnSn 136.0)/( 2 −=+θψ V VSnSn 154.0)/( 24 =++θψ V VOHO 229.1)/( 22 =θψ  WXYZ[\Z]^_`a bcdefg

90.5=µ hijikYZ[\lm^]_`a efg
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35 ÜÝ 

1
ÖÚ

6 ÜÝ×Ø
298.15K Þßà

N2(g) + H2 (g)→2NH3(g)á θK âãßàäåæçáèéêëÔ
 Úìíî

1

,298.15 3( ) 16.50 .fG NH KJ molθ −∆ = − Ý 1

,298.15 3( ) 46.11 .fH NH KJ molθ −∆ = −   11
15.298, .7.198 −−=∆ KmolJS Kmr

θ  

2
ÖÚ

4 ÜÝï
Slater ðñòó×Ø

Sn ôõö
5s ÷øöáùúûõüýþÿûõá���àÔ

 

3
ÖÚ

10 ÜÝìí
Cu

2+ 
+C1

-
 + e     CuC1 �ãû�ßàá V5400.0=θψ

Ôìíî
 2( / ) 0.3418Cu Cu Vθψ + =  

VCuCu 5210.0)/( =+θψ �� θ
1CuCspK �  

4
ÖÚ

15 ÜÝìí
 θ

3)(OHCrspK � =6.3×10
-31 �ßàî

Cr(OH)3
 
(s)

  
+ OH

-  
     [Cr(OH)4]

-
 á�	
� 

θK =0.40
ÔÚ

1Ý×Ø
Cr

3+�
��Þ��ápH��Ú2Ý�� 0.10 mol Cr(OH)3����� 1.0 L NaOH ��ö�ó
NaOH

��á���ë��à� �! Ú
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[Cr(OH)4]
-á"#$%
� θ&K  

 

 

 

 

 

 

 


